Rank| Team Solved | Penalty dan | fizzbuzz| fuses geode | missing [ osmosis | papers | rhinocount |Points
1 |Static 5 355 0 5 0 0 5 20 15 10 55
2 [Catch 5 318 10 5 0 0 5 20 0 10 50
3 |Drop 5 494 10 5 0 0 5 20 0 10 50
4 |Void 4 233 0 5 0 0 5 20 0 10 40
5 |Transient 4 198 0 5 0 0 5 0 15 10 35
6 [packagels 4 275 0 5 0 0 5 0 15 10 35
7 |Goto 4 305 0 5 0 0 5 0 15 10 35
8 |default 3 94 0 5 0 0 5 0 0 10 20
9 [Liberate 3 106 0 5 0 0 5 0 0 10 20
10 [Sleepy 3 113 0 5 0 0 5 0 0 10 20
11 |Async 3 116 0 5 0 0 5 0 0 10 20
12 [NULL 3 119 0 5 0 0 5 0 0 10 20
13 [Super 3 140 0 5 0 0 5 0 0 10 20
14 |Implements 3 271 0 5 0 0 5 0 0 10 20
15 [import 3 318 0 5 0 0 5 0 0 10 20
16 |Instance 2 27 0 5 0 0 5 0 0 0 10
17 |[func 2 28 0 5 0 0 5 0 0 0 10
18 [Long 2 29 0 5 0 0 5 0 0 0 10
19 [Rigidbody 2 51 0 5 0 0 5 0 0 0 10




